HIIFIEZR AR S)

SHINE WEI ENT CO., LTD.




WF-DR & %1
WEF-DR SERIES

Overview

® Type : WF47DR~WF110DR
@® Backlash : <6-10 Arc.min

@® Ratio . 1/4~1/200

@® Capacity : 0.05KW ~ 2.0KW

. : WF47DR ~WF110DR
R 1 <6-1030%
: 1/4~1/200
: 0.05KW ~ 2.0KW

Sune WE



= WF-DR Z%I-148E

WF47DR | WF64DR | WFOOHR | WF110DR
12.0 38 122 250
14.0 36 117 240

- 34 110 225
12.0 38 122 250
10.8 31 102 208

- 34 110 225
12.0 - - -
12.0 38 122 250
14.0 36 117 240

- 34 110 225
AEHLEHIE Ton (Nm) 12.0 38 122 250
14.0 36 17 240
34 110 225
38 122 250
100 . 36 117 240
140 - 110 225
200 102 208

sEAE  (Nm) 2| 4-200 . S R

imes Nominal Output Torque

FEEHMAEZE Nin (rpm) ) 4~200 , 3,000 3,000

RABAEZE (rpm) ) 4~200 , 6,000 6,000

4~20 = =6 =6
25~200 = =8 =8

_ 4~20 = = =8
HREGRR  (arcmin) 25~200 < <10 <10

_ 4~20 12 28
R ( Nm/arcmin) 25~200 . 7.5 16.8

BASHEMmA F2e  (N) , 4~200 113 212

REFFHMEA Faa8  (N) , 4~200 2400
ﬁﬁﬁ%nn (hrs) L2 | 4~200 20,000
fERERE (°C) L2 | 4~200 10°C~+90°C
Hig , 4~200 AFREEMAS Lithium Complex Synthetic
REEF , 4~200 fERJ7H  Any Direction

IE=E (dB(A)) ) 4~200 < | =64 | =66
%) L1 | 4~20 >94%
L2 45~200 =291%
L1 | 4~20
E2 (kg) L2 | 25-200

PhzE L1,L2 [ 4~100

RS (arcmin)

bR EE = (el R i AR (rpm ) /s e L i 2R

P HIRERE 2% BERIHRITER TG

s G/ Gk ) B S AR R 1 00rpm, HL{E A eSS b O B
DO, By

s IR Ry eIl A ZE3000rpm, R ZREE 1 OEL, S S Ak, BEURCER A 1M A5 T Fmflles:
ARG SIS S I QL 4 B R

Sune Wel




= WF-DR Z5%l

RI5RBAL -

WF47DR —— L1

LBV
WF47DR fRIRk /2 3 5 3 Y
WF64DR Jig R - U 5% B R

FERCHR o AR
WF90DR %1515 )

WF110DR

B b -
L1(—B LD e
L2( B3 Eb ) ﬁﬁ;gég

B ¥ . s
- B B L

WF47DR 4,5,8,10,16,20 25,40,50,100

WF64DR 4,5,7,8,10,14,20 25,35,40,50,70,80,100

WF90DR 4,5,7,8,10,14,20 25,35,40,50,70,80,100,140,200

WF110DR 4,5,7,8,10,14,20 25,35,40,50,70,80,100,140,200

Sune WE




= WF-DR BRiega R E RT3 L1

4
ki 1]
L10x45"

> a

N
T

PCDeC3

4-c4

(88 {s2:mm)

WF47DR

WF64DR

WF90DR

WF110DR

12

20

31.5

40

D2 20

31.5

50

63

28

40

63

80

47

64

90

110

D5 67

79

109

135

D6 4xM3x0.7P

7xM5x0.8P

7xM6x1.0P

11xM6x1.0P

D7 72

86

118

145

D8u7 3

5

6

6

D10 8x3.4

8x4.5

8x5.5

8x5.5

D114z

70

95

120

D12

63.2

89.2

109.2

L1

12

12

L2

13.5

13.5

L3

6

6

L4

30

29

L5

10

10

L6

8

L7

10

L8 88

203.5

L9 4

7

L10 0.5

0.5

1

*Cluy 8

14

19

24

* C2n7 30

50

70

110

*C3 46

70

90

145

*C4 M4x0.7P

M5x0.8P

M6x1.0P

M8x1.25P

*C5 30

31

45.5

56

*Cé6 3

4

6

10

*C7 8

11

14

25

*C8 4

6

7

18

*C9 56

80

116

160

*C10 42

60

88

120

*C11 55

72.5

100

138.5

*C12 85

107.5

150

203.5

oD 56x2

66x2

90x3

110x3

1.C1~C12R R ENERERNRYT ERRISRBERR

Sune Wel

ARMES, ANBFECHRMMRE 1518




- WF-DR SIEERSISE RYE/ % L2

L3 LS
L10x45"

PCDeC3

4—C4

(E8{3z:mm)

WF47DR

WF64DR

WF90DR

WF110DR

12

20

31.5

40

D2

20

31.5

50

63

28

40

63

80

47

64

90

110

D5

67

79

109

135

D6

4xM3x0.7P

7xM5x0.8P

7xM6x1.0P

11xM6x1.0P

D7

72

86

118

145

D8u7

3

5

6

6

D10

8x3.4

8x4.5

8x5.5

8x5.5

D111z

60

70

95

120

D12

46.2

63.2

89.2

109.2

L1

4

12

12

L2

6.5

13.5

13.5

L3

3

6

6

L4

19.5

30

29

L5

7

10

10

L6

4

8

L7

5

10

L8

109

208.5

L9

4

7

L10

0.5

0.5

1

*Cluz

8

14

19

*C2n7

30

30

50

70

*C3

46

46

70

90

*C4

M4x0.7P

M4x0.7P

M5x0.8P

M6x1.0P

*C5

30

30

31

42.5

*C6

3

3

4

6

*C7

8

8

11

14

*C8

4

4

6

7

*C9

56

56

80

116

*C10

42

42

60

88

*C11

55

55

72.5

100

*C12

85

90

120

160

oD

56x2

66x2

90x3

110x3

1.C1~C12RRENERERNRT ERRIBRFEERTRAME ANFECRKRMWRF1518

Sune Wel




B

oy

-k
*

p
Tl U 00 o0
Q0 Q0

'I'I1".'IJ

Y g o

54

Ed

(-1 R -

S 21 T T




